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GENERAL APTITUDE TEST
Papea -li

1. Find the missing term ( ) in the following :

N5V,K7T, ,E14P,B19N

(@ HI0R (b) H10Q (c) 110R (d HI9R
2.  Choose the correct number from the following :

B:16::D:?

(@ 150 (b) 200 (c) 256 (d) 276
3. AisB’ssister. C is B’s mother

D is C’s father. E is D’s mother.

How A is related to D ?
(@) Grand mother (b) Grand daughter (c) Grand son (d) Grand father

4.  Choose the word from the following, which can not be formed by using letters in the word :

‘RECOMMENDATION’
(@) MEDICINE (b) MEDIATE
(c) REMINDER (d) COMMUNICATE
5. If the radius of a circle is doubled, its area increases by
(@ 100% (b) 200% (c) 300% (d) 400%

6. Choose the best related alternative (?) from the following :
Calendar : Dates : : Dictionary : ?
(@) Words (b) Books (c) Language (d) Vocabulary

7. A man walks 1 km. towards East, then turns to South and walks 5 km. Again he turns to
East and walks 2 km. Then he turns to North and walks 9 km. How far is he from the
starting point ?
@ 2km (b) 3 km () 5km (d) 9km

8. A man is facing South. He turned 23&nticlockwise and then 18@lockwise. In which
direction he is now ?
(& North-East (b)  South-West (c) South-East (d) West

9. If + stands for %, — stands fer x stands for — and stands for +, then find the value of
26+ 74 -4 x5 2.

(&) 336 (b) 376 (c) 428 (d) 478
10. Which term of the series

5,10, 20, 40, ........ is 1280 ?

(@ & (b) d" (c) 10" (d) None of the above
11. Consider the six statements :

A : All balls are locks. B . All keys are locks.

C : All keys are balls. D : Some keys are locks.

E : Some locks are balls. F : No ball is lock.

Choose the option which indicates a valid argument containing logically related
statements, that is, where the third statement is the conclusion drawn from the preceding
two statements.

(@ ACD (b) BEF (c) CDE (d) CEF

12. Consider the following statement and the arguments and decide which of the argument is
strong
Statement
Should income tax be abolished in India ?
Arguments.
l. Yes, it is a burden on wage earners.
II.  No, itis a good source of revenue.
@ |1 () (c) landllboth (d) None
Series-A 2 LPS
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AT Ffogwe aRtet
q97-11

1. Frefated § 927 gem g ( )T T |

N5V,K7T, ,E14P,B19N

(@ HI10R () H10Q (c) I110R d HOR
2. Tr=fefead o & 9et g g ;

B:16::D:?

(a) 150 (b) 200 (c) 256 (d) 276

3. ABH &AL IC,BHHEL | CHUMDTTNDHHESD |
A fFE TR D 9 g=rad € ?

(@) A (b) = (c) A (d) =zm=r
4, Tr=foiEd # | 39 91 3l T S 6 95 ‘RECOMMENDATION’ H WReRT 318RT | & & el |
2 MEDICINE gbg MEDIATE
(o REMINDER d) COMMUNICATE
5. 3 Uk 91 ol B ot ST R fEam ST o STehT STt g STt §
(@  100% (b) 200% c) 300% (d) 400%

6. MGG ¥ ¥ SUgeR fased (?) giu ;
Cakendar : Dates : : Dictionary : ?
(@) Words (b) Books (c) Language (d) Vocabulary
7. U AR IS ol 3R 1 ToRHT. Fern €, R gfetor st SR g 5 R Tt & | T 98 U9 ohl 3T JEaR
2 fertlt. It € | TR 8 STR 1 3R qgaht O Tohelt. Tetar € | a8 WRMETeh feafq @ fraT 3 e 2
(@) 2T (b) 3fFH. (c) 5feH. (d) OfH

8. TS A 3T S9N ol 2R & H¥eh WeT ¢ | 98 Hel Fl g &l fawdid fson § 135 gedr & 3R
oY et ol g€ i feom & 180° gea € | 319 9% foh e | @eT  ?
(a) SR-II (b) sfeouem  (c)  sRO-gA (d) ufeem

9. I+FATEX, —H AT+, XFI AT E — AN~ H AT 8+, W26+ 74— 4 X5 2H AT

TId hifeTT |

(@ 336 (b) 376 (c) 428 (d) 478
10. U5, 10, 20, 40, ...... HTH G 12808 ?

(@) & (b) G (c) 107 (d) =78 @ HIE T
11. = U TF 6 Ul & UG

A RIS A E | B @ur=iadidret @ |

C : gfi oot 7S & | D : FSafedidacd |

E : 39d S8 | F: SRICACITRIE |

e forshed g e e o SR § 3R I8 SR Teet 3T ot &1 el § Fehren T e |
31Tk T IAT 7T [Iehed Ueh UHT 3¢ STRH= 81T {579 ofifeheh ® § 5[ §UT oode &l |

(@) ACD (b) BEF (c) CDE (d) CEF
12. 9 53 T A qAT I M H T §U A T Y o i TT 7k IRt ¢
F
T ART H TS I T T 37 AT 2
a—ak.

I &, T S e WS |
. &, T8 TR o1 BT HTE |
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(@ | (b) Il (c) lawmig=ar  (d) e T
13. Congder the following statement and assumptions and decide which of the assumption /
assumptions is / are implicit in the statement.
Statement
Let us increase the taxes to cover the deficit.

Assumptions
l. The present taxes are very low.

II.  Deficit in a budget is not desirable.
lll. Deficit can not be met without increasing the tax.
(@ landll (b) landlli (c) (d) Handll

14. If 25" May in a certain year is a Sunday, then which day of the week will Be 25
Decenber in that year ?
(@) Thursday (b) Friday (c) Saturday (d) Sunday

15. Consider the statement given below :
‘Idle brain is a devil's workshop.’
Which of the following has same logic ?
(@) Hardwork is the basis of success. (b) A person without work is rebellions.
(c) Educated people are cultured. (d) Players are physically healthy.

16. It takes 3 hours to fill a tank but because of some leakage at the bottom of the tank, it
takesone more hour to fill the tank. In how many hours, the tank becomes empty just
because of hole ?

(@ 8 (b) 10 (c) 12 (dy 14

17. Which of the following graphs can possibly represent the motion of a car on road ?

e

Time Time Tlme

Distance
Displacement
Speed

I Il
(@ lonly (b) landllboth (c) and III both (d) None of the above

18. Six persons K, L, M, N, O, P are sitting around a table as per the following conditions :
1. KadL are opposite to each other.
2.  Misto the left of K.
3. O and N are opposite to each other.
4. P isto the right of N.
Who is to the left of L ?

(& M (b) P (cp O (d N
19. Which one of the following pairs of words is not rationally related ?
(a) Gold: Ornaments (b) Wood : Furniture
(c) Pitcher : Pottery (d) Straw : Nest
20. Which one of the following is odd one ?
(@ Peso (b) Phi (c) Gamma (d) Delta

21. The monthly incomes of six employees of a company are 15,000, 18,000, 17,500, 30,000,
17,500, 28,000 ki rupees). The number of employees having income more than mode and
less than mean incomes is

Series-A 4 LPS
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@ o (b) 1 © 2 d) 3
13. = U T FoE q9 Ardre e § @ gU Mo o {6 R o W / e e o
FMEa s /€ |
A
oS 1 i q S F@TT S |
. A H AT FAE |
Il. o H e asHE T |
Hl. 5T o SQTe U =er qR1 Tt fofam ST Wehet |
(@) lall (b) 17T © d) naEi
14. Tt ad § afs 257 ot Faar &1 f57 & o S8 T | 25 fS@wR i Twe o1 i 91 57 2 2
(@) THAR (b) AR (c) VAR (d) aEar
15. Tefefed s W foar St
el fEHTT S o FEen e
frfetfiad # i o1 d 39 A € ?
(@) RS Ao T 3MER T | (b) wRRRET Al fasE g e |
(c) Tl =afa aaede | (d) foere! IRIRE TU 4 W e € |

16. TH Thl ol A | 3 HUS oA & Ik 3l o ool W &I el [LETe 3 HRUT, Toht o 931 o Teh
HUST 3TTeh STl & | e 3 R0 Sont ahl WTedl 814 H {oh 508 o ?
(@ 8 (b) 10 ) 12 d) 14

17. FAfAtEd 8 @ i 31/ 9 3@ias 98 W R i 11 ol oed: Soare / g9nd & ?

h E@%L\ -
% p— G gy 4

III

(a) ol (b) 1=l 3= () NFIIH  (d) T8I HE T
18. fefafEd vt & AR 6 AR K, L, M, N, O, PAT % - S8 &

1. KagL U g & farlia e |

2. KFTEARME |

3. OFTNMNTHTW & faRAE |

4, NFIEIPE |

L % T SR B & ?

(@ M (b) P () © d N
19. Frfafed w=-g § @ i 91 U difdhe &Y § TrEiud T2l € ?

(@) 0T : 3T (b) TS : FHERR

(C) =T g F (d) forrs ;s
20. TfetEa o @ e @ i (3rem) € 2

(@) drr (b) e (c) Tmr (d) zw=

21. fordt I & ©: HHERAT i A1MEs 3 (393 #) 15,000, 18,000, 17,500, 30,000, 17,500,
28,0008 | SHHATRAT <l T ekt 371 Sgeieh © 31k ae wrea § &4 €, il

LPS 5 Serlies-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda24T7

(@ O (b) 1 () 2 (d 3

22. The following table gives the area (in square km) and population (in lakh) of four cities :
City A
Aree 12t 14C 18C 20C

Populatiol 25 4C 60 5C
The least densely populated city is
@ A (b) B () C d D

23. A number when divided by 8, leaves a remainder 2. If cube of this number is divided by 8,
the renainder will be
@ 2 (b) 4 (c) 6 (d) None of these

24. The following chart shows the percentage of Engineers, Labours and Administrators

working in a company. If total number of Engineers is 75, then the number of Labours is
125 %

Administrators

Engineers

Labours

(@ 100 (b) 150 (c) 175 (d) None of these

25. The following table gives the annual profit of a company (in lakh rupees) :
2008-09 2009-10 2010-11 2011-12 2012-13

590 620 656 690 726
The period which has maximum percent increase in profit over the previous year is :
(@) 2009-10 (b) 2010-11 (c) 2011-12 (d) 2012-13

26. The following table shows the number of Science, Arts and Commerce students in a group
of boysand girls :
Scienct  Arts Commerc Total

Boys 20 - 15 80
Girls 6 40 - -
Total - - 20 -
The total number of students in the group is
(@ 127 (b) 130 (c) 131 (d) 135

27. The following table gives the import and export (in million dollars) of a country :
Yeal 201C 2011 201z 201:
Import 15C 17t 17C 20C
Expori 14C 18: 17C 21C
The average trade balance is

(a) 8/3 (b) 7 (c) 2 (d) 28/3

28. Electronic data processing is a modern technique of which of the following ?
(@) Programmed decision (b) Non-programmed decision
(c) Traditional decision (d) Promoting E-Governance

29. Your subordinate requires leave but your office work will be affected due to his absence
because he is a key person for that work. You should
(@) refer his matter to your superior.
(b) sanction the leave.
(c) ask another person to do his work.

Series-A 6 LPS
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(d) meet him, discuss about the reason for leave and try to convince him the urgent need
of his presence.

22. Tefeiiad GRolt | =R TR &1 &%l (a7 fmer. /) T SHEEm (g §) e §

TR A B C D
STReT 125 140 180 200
ST 25 40 60 50
=JATH STAHEAT T Al TR & -
(@ A (b) B (¢ C (d D

23, I =T 8W M W 2 AT Soal & | SH =T &9 &l 8 § 9T &+ TR Y o=
(@ 2 (b) 4 (© 6 (d) T ¥ i &

24, ffefad FaEtes U wEAt § R EaRt, ASIgl 9 UM S Ui qenar § | Al

ZST2RT ol el & 75, af WergRl st G et

12.5 %

WO &

37.59 |+ + | ST €

TSR &

(a) 100 (b) 150 (c) 175 (d) 379 ¥ FIE T&r

25. Trefeiiad ROl Teh St o aifeh oy (S ©. §) g9l @
200¢-09 200¢-10 201C¢11 2017112 2012113

59C 62C 65€ 69C 72€
TE FHA STRTA 797 310 TUset I8 i Joi1 | Sy Ufaerd a gan g, ¢
(@) 2009-10 (b) 2010-11 () 2011-12 (d) 2012-13

26. fTiad AR cTgehi d Aefwal & Uk We | o, ot 3 STy o forntorat s T gemd @ :
RIS IR o | | e )|

[GELT 20 3 15 80

ISEIERI 6 40 3 3

R - - 20 -

e | Fo foRnfeat o dem g

(@) 127 (b) 130 (c) 131 (d) 135
27. TretefEa 9ot weh 29 &1 31 qe e (fafera Sier §) g9mdar e

L 201C 2011 201z 201°

AT 150 175 170 200
ERIG 140 183 170 210

{1 AR T &

@ 83 b 7 © 2 d) 283
28. TSI STUR-FME TsHHOT (S1eT WATET) Fefefad § & fhaent My aeis & ?

(a) FrsTHTSRg FoTT =t (b) TR-TASTE T

(c) WERHYR foe T FHorg =t (d) EITad st agren 3

29. 3MUS e FHAR! FHl P AMEY W 3! agcr&af%r@ 3Nk TN & T T THAH g
e 3 T 3 T U T AN ¥ | SR T T A 2
(@) TT UM Pl 30 3o SATHRI AT IST T |

(b) @@WEFT&I
(c) Tl 3T SATeRT ol STHT T T o T e |

LPS 7 Serlies-A
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(d) wﬁﬁﬁ,g@%w%%mﬂﬁaﬁ%ﬁﬁaﬁ 3TN 3! IUEATT ol 3TETTHT o IR H 39

TS & T T |

30. Authority means :
(i) power to take decision
(i) power to communicate decisions to subordinates
(iif) power to influence the behaviour pattern of people in organization
(iv) power to make subordinates socially responsible
(@) only (i) is correct. (b) both (i) and (ii) are correct.
(¢) (i), (i) and (iii) are correct. (d) all the four options are correct.

31. The alphabet which appears in the middle of a meaningful word beginning with ‘A’ and
being formed by using the first, second, fourth, fifth and sixth letters of the word
‘CONTRACT  is
(@ C (b)y T () O d R

32. Inthe process of communication, which one of the following is in chronological order ?
(& Communicator, medium, receiver, effect, message
(b) Medium, communicator, message, receiver, effect
(c) Communicator, message, medium, receiver, effect
(d) Message, communicator, medium, effect, receiver

33. Communication via new media such as computers, teleshopping, internet and mobile
telephony is termed as
(@) Interactive communication (b) Entertainment
(c) Developmental communication (d) None of these

34. A number when divided by 17, leaves remainder 5. What remainder would be obtained by
dividing the same number by 357 ?

(@ 42 (b) 41 (c) 39 (d) 35

35. If a carton containing one dozen eggs is dropped. Which one of the following can not be
the rdio of broken eggs to whole eggs ?

@ 5:7 (b) 1:4 (c) 1:2 d 1:5

36. Which of the following statement(s) is (are) true about decision-making ?

1. ltis an act of determining a course of action.

2. It means choosing one alternative from among various alternatives.

3. Itis synonymous with policy-making.

(@ 1,2and3 (b) land2 (¢ 1and3 only 1

Instruction : Answer Q. Nos.37 to 39 on the basis of the following data.

The food values and the unit price of a number of food items are given below :

Food % of % of % of Cost per
protein carbohydrate fats 100 gms ()
A 10 20 30 1.80
B 20 15 10 3.00
C 20 10 40 2.75

37. Which of the following diets would supply maximum protein ?
150 gm. of A and 200 gm. of B

(@
()

cost he least ?

500 gm of A
38. All the following diets would supply at least 75 gms of fats. Which of these diets would

(b)

100 gm. of B and 200 gm. of C
350gmof C

(@) 200 gm of A and 150 gm of B (b) 500 gm of B and 100 gm of A
(c) 300gmofA 200 gmof C
Series-A LPS
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39. Ifone’s diet has 100 gms. of A, B and C each, what is the amount of fat included in the diet ?
@ 45gm. (b) 50 gm. (c) 65gm. (d) None of the above
30. AR wfeRT o 31 &
() v e v
(i) ToTaT ot STefFRT St Giod e i e
(i) TS | HRERA AT o HIGR-EEY i Tl e i IerT
(iv) TN SRt AT €9 | SRR S i viferd
(@) et (i) T | (b) () = (ii) T WIE |
©) (i), (i) = (i) WTE | (d) =i faFcT TEE |
31. U YU 953 TR TRET ‘A’ W 7, 15 ‘CONTRACT' & Ueet, T8, A1, Ureel 3R 93 7RI
Y TIRIIATE | 3T STV 965 o TeA I W ©
@ C by T () O d R
32. U UTHAT H ARG B T i T HOhAMER € ?
(@) IR, HTEAH, UTTehdl, T, <97
(b) W, TR, T, AT, TTd
(C) WV, G, [TAH, UTeTehll, TS
(d) T=<T, GHIv, T, T, HTeshdl

33. 7 Wi S o e, TSI, $eiHe SR HieTge St o gRT fShT 7T WEieoT i whed &

(a) == fomam weIwoT (b) TARSH
(c) forhraTeHe THIwOT (d) = 9 HrE T
34. Rt F=ar et 179 9T W 5 99 Sl € | 3! W& St 357/ AT I+ U 1 9 ST 2
(@) 42 (b) 41 ) 39 d) 35
35. U fe=n s U T 37 €, R sar € | ffefad & @ =69 @1 22 gu 37l &1 dea et 4
TITA el & Wehell ?
@ 5:7 oy P (c) 1:2 (d 1:5

36. FUE e % IR H HEfefad § § A A/ FA qere /€ ?

1. I A B o ich ol I HEATE |

2. =g 31 ¢ fafu= faskedt o ¥ U fasheq I |

3.  Fe Aifq-FHior B yErEErE ¢ |

(@ 1,293 (by 1=2 (c) 13 (d) et 1
e ; FeAfeEa siehsl & STUR W Ue= 9. 37 F 39 & SR SI1STT |
FS T UKT 1 G A TIT TH1E oo =TAEd ¢

TR | WM % H | FERRsE % W | SW% # | ged i 1009 ()
A 10 20 30 1.80
B 20 15 10 3.00
C 20 10 40 2.75
37. FHAfiEd o & 9 91 SRR STeehdd TieH 3m ?
(@) A 15097 B 1 20071 (b) BT 100UT. & C T 2007T.
(c) A 5007 (d) C=r 3507
38. frmfeifigd @il 3R 7 & w9 7501, SHI A & | T78 Q i 91 STER g G & ?
(@) A 2007 9 B % 1507 (b) B 5007 T A & 1007T.
(c) A% 3007 (d) C= 2007

LPS 9 Serlies-A
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39. 3 forelt % @R # A, B C 100-1000T & aF ER H T 1 HE fehe & 2 ’
(@ 457 (b) 50w (c) 65 (d) =T 9 i &

40. The notation|_nis defined as factorial n and it means the product of positive integers from
1 to n, for examplt% 1 x 2 x 3. Now form the sum S|i+ 2+ |§+ |i+ ..... uptoco.
If you divide this sum S by 8, the remainder is :

@ O b) 1
(c) 2 (d) cannot be determined
41. The number of integers between 1 and 100 (including both) which are fully divisible by 3
or5is:
(@ 47 (b) 49 (c) 51 (d) 53

42. Study the following statement and the assumptions and decide which of the assumptions is
implicit in the statement.
Statement
If it does not rain throughout this month, most farmers will be in trouble.
Assumptions
l. Timely rain is essential for farming.
II.  Most farmers are generally dependent on rains.
@ | (b) N (c) landli (d) None of these

43. Consider the following statement and courses of action, decide which course/courses of
action logically follows/follow for pursuing.
Statement
Nuclear power can not make a country secure.
Courses of action
l. We should stop further increasing our nuclear power.
II.  We should destroy our nuclear capability.
lll.  We should focus on improving diplomatic relations.

@ |1 () (c) (d) Tlandll
44. Study the following statement and the arguments and decide which argument(s) is (are) strong.
Staement:
Should seniority be only criterion for promotion ?
Arguments.

l. No, it would be an injustice to those juniors who are more deserving and suitable for
higher position.

II.  Yes, otherwise seniors will feel humiliated.

lll. Yes, seniors are more experienced and must be rewarded.

(@ landll (b) Handll (c) |1 (d) None of these
45. Study the following statement and conclusions and decide which conclusion is logical.
Staement:
Money plays a vital role in politics.
Conclusions

l. The poor can never become politician.
II.  All the rich men take part in politics.

@ | (b)y 1 (¢c) landll (d) None of the above

46. Study the following statement and courses of action and decide which course(s) of action
is (are) logical.
Statement

The migration from villages to cities is detrimental to both.
Courses of action

l. Rural postings should be mandatory.

[I.  Employment opportunities be created in villages.

Series-A 10 LPS
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lll.  There should be trains lining villages to cities.
@ | (b) N (c) (d) landll

40. Ydlh | n S HFRIeT N FET STl § 3T TqehT 319 § &A1 1§ n e o Gk JUITehi i T[0T,
[3=1x2 %330 AMTHATSTRETH RS =| 1+[2+[3+[4+ ... 307 |

¢ 3T AT SHI 8 9T S o I =
(@ o0 (b) 1
() 2 (d) e =&t fepan < wehan
41. 19 1oo%aﬁaﬁ(ﬁaﬁmﬁawﬁ§q)@quﬁﬁaﬁmsﬁ 397 59 qote: fereifore & @i, &
(@) 47 (b) (c) 51 d) 53

42. ﬁw%rﬁgﬁwawaﬁﬁv%ﬁa%maﬁm%ﬁaﬁ?ﬁwwﬁ FAMETE |

o

I QX HEH aReT T8t el € At St o ehe | ug S |

HI=

I OHg 9 SRy Bt & fou sfer €

I, aAfehae foram Smm: ST W e @ |

@@ | (b) Il () 1=l (d) =99 9 FIE T&I
43. FfeRad s o T e | W@ gu g o i 91/ @ S aifche w9 9 foam ST/

%ﬁQFfﬁ?fr%(fl

;ﬁ&ﬁﬂﬂﬁﬁﬁ@ﬁﬁ@%ﬂﬁﬁﬂﬁl

. SRR SIfeRT Sl SEHT 9 X 3T AT |

[l YPIT &THAT Sl T o 31T =Ml |

Hl. Heiifas T sl GURA T F61 31 e |

@ | () I @© d 1=l
44, ﬁw%rﬁgﬁwaaaﬁaﬁw%qaﬁ?ﬁﬁwﬁﬁq%ﬁﬁqm/@ﬁmﬁ%/%

W%Wwﬁwmﬁmmw ?
T T, wmﬁ%aﬁaﬁﬁ%m%mmﬁwﬁ%%mmmﬁaaﬁ?m% |

I &, 3=aen ais wHeRt gRT o= |
. &, 3R & Sifaes Twal & 3R 3% SUeh! TTERR Mo ey |

@@ 14l (b) 1= € | (d) =99 9 HE T
45. ﬁﬁfﬂF@ﬁWWﬁWﬁWﬁWﬁﬂhﬁ%ﬁﬁqmﬁmﬁﬁ%ﬁél

mﬁﬁmﬁnﬁqﬂigﬁqﬂﬁ?ﬁh

. ﬁﬁ?%’ﬂ?‘lﬁﬁﬁﬁ‘@ﬂ?%l

I, el &= oo o § g ed €

@@ | (b) Il () 1=l (d) =99 9 FIE T&l
46. W@ﬁmwmﬁwﬂﬁwﬁﬁwﬁ%ﬁaﬁ?m/@wﬁﬁ%ﬁ%/%

@maﬁaﬂ'{wﬁ%ﬁnw%

| e 8 e sifam gt e |
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47.

48.

49.

50.

51.

52.

53.

[l Tl § YR & 37aE 99 918U |
1. Tifel IR I ot e % foru 35 gl =ey |
@@ | (b) I () ) 1=

The minimum number of colours required to fill the spaces in the diagram without any
two adjacent spaces having the same colour is

(@) 6 (b) 5 (c) 4 (d 3

Study the following statement and conclusions and decide which conclusion/conclusions
is/are logical.

Statement

Soldiers serve their country.

Conclusions

l. Men generally serve their country.

II.  Those who serve their country are soldiers.

lll.  Some men who are soldiers serve their country.

IV. Women do not serve their country because they are not soldiers.
@ (b) N (c) 1 (d landll

Study the following passage and find out which statement is best supported by this passage :
“The school has always been the most important means of transferring the wealth of
tradition from one generation to the next. This applies today in an even higher degree than
in former times for, through the modern development of economy, the family as bearer of
tradition and education has been weekend.”

(@) There are means other than schools for transfer of traditions.

(b) Several different sources must be tried.

(c) Economic development plays a crucial role.

(d) Family as ever, is the most popular means.

In an envelope, there are some currency notes whose total value is 100/- and their number
is 10. There is no currency note of 10/- denomination. How many notes of 5/-
denomination are there in the envelope ?

(@ 2 (b) 3 (c) 4 d 5

Formthe product S=1x2x3 x4 x5x6x7x8%x9x%x ...... x 50

Countng from unit’s place, the number of zeros in Sis :

(@ 10 (b) 11 (c) 12 (d) None of these

In the following, find the option which is different from the other three options, which are
alike in some manner.
(@ 71,17,11,5 (b) 71,67,7,3 (¢) 37,19,15,7 () 17,13,5,3

There is given below a question followed by two statements :

. X
Quetion : x and y are two numbers, wha?é?

Statemeni (S1) : Their average%times y.

Statemen® (S2) : Their difference is 3.
Which one of the following is correct in order that specific answer to the question is obtained ?
(@) Both the statements S1 and S2 are not sufficient to answer the question.
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(b) S1 alone is sufficient to answer the question.
(o S2 alone is sufficient to answer the question.
(d) Either S1 alone or S2 alone is sufficient to answer the question.
47. ﬂﬁﬁjﬁn’g?ﬁﬁswﬁﬁﬁaﬁmﬁ%ﬁm@ﬁaﬁwﬁw&ﬁwﬁw—w%wﬁﬁ@
qraT >

(@ 6 (b) 5 (c) 4 d 3
48. Fr=fefad e qor fenst ot e ° Taed o o {6 i ar/ 9 ey aifes €/ 8
H -
I ST AU R I F & |
sy

| O TE9 310 97l el B € |

[l S 3o S R HAT oA &, F AHFH E |

. o 9 T AT €, 370 391l T o € |

IV. WEAd 379 97 bl Hell &l Sl ifeh o Hi-eh 78l &lat & |

@ I (b) I © | d) 1=l

49. {TEATARGT AEIeT Sl UG ST Y [oh I AT BT AT §RT Tad 31eeh TATIT & 2
“Thol EHET & U Uigl & T digt H URHRe Hodl o R0l & HewdJul Teq @ € | I8 31T
% T | 3R ot 3tk Hewaqul €, Yect St STUETT, AR MY Mo faerd 7 uier, S fh
TRERTST F 98T T e €, i FUSR har g 7
(a) TRERIST % EEATCROT & [oTT Thet o 3TCATaT 3T o Wre € |
(b) E Tafs= Hidi =t TTSTAMT @My |
(c) TR Toehra ot FoTTaeh JMHehT € |
(d) URER EHEM I TRE, T AR e € |

50. TohdT feThTe: B o =t A & TSRt el god 100/-8 e el ot S 108 | 10/- gog-ait
HE A T8 | TR | 5/- God-aT o {ohe- A1 &I 2

@ 2 (b) 3 (c) 4 d 5
51. THRTUPTARES =1X2X3X4Xx5Xx6x7x8Xx9x ... x 50
THTE o T A R, ST v B gen g
(@) 10 (b) 11 () 12 (d) T ¥ = T

52. T=feiad | € 39 fashed 1 T ST 37 o1 foeheat & ol sRor & =T (3767 € |
(@) 71,17,11,5 (b) 71,67,7,3 (c) 37,19,15,7 (d) 17, 13,5,3

53. T TR U @I TATE | U % a5 & e (-1 T H-2) KA T E
T | XAy AT § |§w%?

FT - 1 (F-1) :Waﬁ'\qﬁngw% |

HAT - 2 (F-2) : ITH TR 3T |
T T a3 et 30 fod fefetiad o & i 91 T8l 8 2
(@) V¥ T IR UM % 0 I Fo (F-1 T F-2) T TR © |
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(b) W9 I ST UM & foTT -1 370 3T § T & |
(C) WY I IR UM & [eTU F-2 30 AT H 73T & |
(d) V¥ T IR UM % [0 -1 30 39§ 319 -2 370 3T H A ¢ |
54. Thee is given below a question followed by two statements :
Question : Ix greater than y ?
Statement 1x is greater than 30.
Statement 2 : y is greater than 27.
Which one of the following is correct in order that specific answer to the question is
obtained ?
(&) Both the Statements 1 and 2 together are necessary to answer the question.
(b) Both the Statements 1 and 2 together are not sufficient to answer the question.
(c) Statement 1 alone is sufficient to answer the question.
(d) Statement 2 alone is sufficient to answer the question.

55. Below is given an Assertion (A) and Reason (R) thereof :
Assertion (A) : Salt is added to cook food at higher altitudes.
Reason (R) :Temperature is lower at higher altitudes.
Which one of the following is the correct answer ?
(@ Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(¢) (A)istrue but (R) is false.
(d) (A)is false but (R) is true.

56. Below is given an Assertion (A) followed by Reason (R) :
Assertion (A) : Pressure cookers are fitted with ebonite handles.
Reason (R) :Ebonite is strong.
Which one of the following is the correct answer ?
(@ Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(c) (A)istrue but (R) is false.
(d) (A)is false but (R) is true.

57. Below is given an Assertion (A) followed by Reason (R) :
Assertion (A) : We prefer to wear white clothes in winter.
Reason (R) :White clothes are good reflectors of heat.
Which one of the following is the correct answer ?
(@) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(¢) (A)istrue but (R) is false.
(d) (A)is false but (R) is true.

58. Below is given an Assertion (A) followed by Reason (R) :
Assertion (A) : Goitre is a common disease in mountainous regions.
Reason (R) :Diet of the people in mountains lacks iodine content.
Which one of the following is the correct answer ?
(@ Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(c) (A)istrue but (R) is false.
(d) (A)is false but (R) is true.
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59. The digit in the unit’s place of the number
174990 | 111999 _ 71999,
@ 3 (b) 7 © 9 (d) None of these
54. e Tk U T T E | U9 o 1% 31 e (-1 A H-2) A T E
T XYy W TSTE ?
#-1:x, 309 FET¥ |
F-2:y, 278 TSTE |
T T a3 et 30 fofu fefetiad o & i o1 T8l & 2
(@) W T SR UA & AU, AT F (-1 T H-2) MEIF & |
(b) % N IW I & feIw, AT FE (F-1 T H-2) T Tl & |
(C) UYH SR UM & fTU -1 370 3T H T & |
(d) 9 T SR I o T -2 30 M H 7T € |

55. e Uk THe () foar T & SR S9eh! ShRor | e T e
FIT (A) : ST dTet AT | SIS YehH & {o1T SHH T8k e Sar g |
HROT (R) : ST et T A aTIHE Y BT g |
freferfad & @ A T W E ?
(@) (A) T (R)sH g & a2 (R), (A) F T&l ATSE |
(b) (A) T (R) 3t T &, o (R), (A) i F&t AT TR & |
(€) (A)F=E, < (R) WHHE |
(d) (A) 9% €, g (R) T ¢ |

56. e wsh TEe () T T € e a1g SHeh SRt fean T e

HIT (A) : UYR PR H TSITEE i &el (£T) T &l & |
HRT (R) . TSTEE AT @il € |
fefefad o & 9 91 98 W E ?

(@ (A) T (R)aMI &= & @ (R), (A) Fl Tl e € |

(b) (A) T (R) 3T GeF €, o] (R), (A) T T&t AT Tel & |
(€) (A) =&, i< (R) 99F T |

(d) (A) 9 &, T (R) T |

57. <rd U THR (F) 51 7T © ST 918 ST hRUT RAT T
%9 (A) . STl | Yg-H % foTT &9 T hUST ol aFar3d ¢ |
FHRT (R) : T UL, ST o 3T WadT & & |
HTANad B @ i 91 &l STRE ?

(@ (A)a(R)3HI & € a1 (R), (A) I Tl = € |

(b) (A) T (R) S G €, T (R), (A) i T& AR T&T € |
(€) (A)T=E, < (R) 9HFHE |

(d) (A) 9 &, g (R) T ¢ |

58. i ush THeH () feam T & fSeh a1g 39eRt SR A T e
F (A) : TRTST & § Tige (ST ) Uh Q= SR & |
FRT (R) © TETS! &S | T o IS W STATS St 6 hH Bl § |
TANad B @ i 91 &l STRE ?
(@ (A) T (R)E & € T2 (R), (A) Fl Tt AMATE |
(b) (A) T (R) 3 T &, fheq (R), (A) 1 T&l AR TET € |
(c) (A)T=E, < (R) 9HFE |
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(d) (A) 9% €, g (R) T & |

59. @ 1799+ 111999 71999 et & o X o Aot W &

(@ 3 (b) 7 () 9 (d) =T & = T
60. Which of the following is correct ?

(@) The calendar for the year 2003 will serve for the year 2014.

(b) The calendar for the year 2003 was same as for 2013.

(c) The calendar for the year 2003 was same as for 2012.

(d) The calendar for the year 2003 was same as for 2011.

61. Land price is a big hindrance to competitive Indian product and services because
(@) More land is required for urbanization in India.
(b) Urbanization has increased land prices in India.
(c) Farmers are not ready to give their land for projects.
(d) High land prices increase the fixed cost in business.

62. Which one of the following is most appropriate to ensure desired limit of forests
pregribed in Indian forest policy ?
(@) Transfer agriculture land to forest land
(b) Increase forest land 2% per year
(c) By afforestation of land in a scientific manner
(d) Declare cutting of any kind of tree a criminal offence

63. Which of the following is different from the other three ?

(@ 1719 (b) 2834 (c) 1528 (d) 2349
64. The relationship “Optimistic : Pessimistic” is best explained in which one of the following ?
(@) Difficult : Impossible (b)  Export : Import
(c) Study: Play (d) Tolerating : Disgusting
65. Which one of the following is different from the other three ?
(@ HI (b) PQQOR (c) WYYZ (d) TUUV
66. Which one of the following is different from the other three ?
(& Algebra (b)  Arithmetic (c) Geometry (d) Mathematics

Study the following figure and answer the question num®&r88 and69 :

67. What is the number of squares contained in the figure ?

(@ 5 (b) 6 ( 7 (d 8

68. What is the number of straight lines which is needed to construct the above figure ?
(@ 13 (b) 15 (c) 11 (dy 12

69. What is the number of triangles contained in the figure ?
(@ 16 (b) 20 (c) 22 (d 24
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70. Ais elder to B while C and D are elder to E who lies between A and C. If C is elder to B,
which oneof the following statements is necessarily true ?
(@ EiseldertoB (b) AiseldertoC (c) CiseldertoD (d) DiseldertoC

60. =g o A P AT E ?
() 2014% feTu =@ FeA=ed B St 2003% forw o |
(b) 200337 2013% FHers THH & |
(c) 200337 2012 FHei=el T & |
(d) 201137 2003% FHer< T & |

61. YR SIS X Y3t i UTTTeTcHeh S | T i hIHd Uk ST aTel § Fih
(@) YR H IAH0T & feTu 3tferes oy it STevashar & |
(b) ITEIRRUT @ YR H o hl A H Ig 52 & |
(c) uREsHIeT o foru feham 7ot STHA 39 At AR el € |
(d) S=a 9fF-oITd, =R § ffved A & SgEr I |

62. YRAR o7 Aiq gRT LIRS o W1 & 18 i U H o [T FETerad | @ i 91 U Faiiaesh
ST & ?
(@) FN g FH T JH | gAraRoT
(b) == ufF H ufq O 2% =l Ihg
(c) o fafe & SFTER -F-Ieh0T Hieh
(d) TRl off X8 o U i h1e- i STIY T b

63. frefaiEad & 9 &9 &1 g dH 9 e € ?

@ 1719 (b) 2834 (c) 1528 (d) 2349
64. “3eTEre! ; fFRETER” % gy 6 FEfeiad 0 9 fFed ged o @it 9 IS T e ?

(@) e : I (b) T : e

(c) Ue: Wer (d)  HETiiet ; FoTSEE
65. TAfAREd O & = 91 U 37 a1 9§ 3T e ?

@ HIJ (b) PQOR (©)  WYYZ (d) TUUV
66. [T=fciEd O 9 i T UF = a1 F FATE ?

T f5T T ot Bt A SR T GEeT 67, 68T 69H IS

67. =T o 319 oret ot ol GRS ?

@ 5 (b) 6 © 7 d) 8
68. ST G LT hl AT T ¢ 5 Gt @137 i SAEvIehdl 39 95 ol 94 § Tear g ?
@) 13 (b) 15 ) 11 d) 12
69. Tea® o7 At FIysi ot ST FAE 2
(@ 16 (b) 20 ) 22 d) 24
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70. A, BRI Caa D, EX¥ TR € IE, A CH v feae 139k C, BE Se1 &, T
freAfefiad | & i o1 o STavaqd T § ?
(a) E,B¥sEig | (b) A CI¥seig !l (c) C,DITEE | (d) D,CATSIR |
71. 1f 50% of ik —y) is equal to 30% of(+ y), then what percent afis the value of y ?

(@ 400% (b) 40% (c) 15% (d) None of the above
72. The missing number in the following series :

5,41, 149, 329, is

(a) 481 (b) 489 (c) 581 (d) 589

73. If CONSTITUTION is coded as DNORUHUTUHPM in a certain language, how can
DISTRIBUTION be coded in that language ?
(@ EHTSTHCTUPHM (b) EHTSSHCTUHPM
(c) BHTSSHCTUHPM (d) EHTSSHCTUJNM

74. Find the value of
\J42 +\[42 +~[42 + .... uptom

@ 7 (b) -7 (c) -6 (d) None of these
75. What is the angle between the two hands of a clock at 9 : 50 hours ?
@ 2z by % (c) & d 10

76. Find the average of all the even numbers and the average of all the odd numbers from 1 to 45.
(@ 24 and?23 (b) 23 and?24 (c) 24 and?25 (d) 23and?23

77. Find all the possible values w{whele x is an integer) for the following expression :
5<X+2<17
@ 1,2,3,4,5 by 1,2,3,4 () 2,3,4,5 (d 3,4,5
78. A person was appointed for a 50 days job on a condition that he will bé Iairevery
working day but he will be fined 6 for everyday he remains absent. After completion of
work, hegets' 420. For how many days he remained absent ?
(&) 5days (b) 10 days (c) 12days (d) 15days
79. Find the missing number (marked as ?) in the following figure :
3

4 ? 4

4
(@ 4 (b) 5 () 7 (d 8

80. A result of a survey of 1000 students with respect to their knowledge of History (H),
Geogaphy (G) and Civics (C) is given below :
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What is the ratio of those who know all three subjects to those who know only Civics ?
1 1 5

@ 9 (b) 10 (©) 57 (d) None of these
71. AR (X—y)F150%, K+ Yy) F 30%S SRR &, Aty T T X & fohc= AT € 2

(a) 400% (b) 40% (c) 15% (d) 78 @ e Tl
72. fr=tefad gon

5, 41, 149, 329, H T gE W e

(a) 481 (b) 489 (c) 581 (d) 589

73. afc CONSTITUTION &t fwdt Fiehiaes 9 # DNORUHUTUHPM forar sier €, at s&t
Hichfaes 9T H DISTRIBUTION &t sh& ferar sa ?

(@) EHTSTHCTUPHM (b) EHTSSHCTUHPM

() BHTSSHCTUHPM (d) EHTSSHCTUJNM
74. \[42 +\[42 +~ 42 + .5 o 1 T S R

(@ 7 (b) -7 (c) -6 (d) =99 9 T T
75. OIS  S el o arg | 9 SeTe 50 e W ohd sieT R T e ?

(@) 2 (b) 5 c & d 10
76. 19 457 ol Ql TH GEATST 1 ST qL Fef forow GeArat o A A i |

(a) 24723 (b) 2371 24 (C) 24a=m 25 (d) 23723
77. TEAfAREd et

5<X+2<17

% o0 X & (STt X qUiieh &) Tt FrTiere |1 37Tt hifoy |

@ 1,2,3,45 () 1,234 () 23,45 d 3,4,5

78. 507 & & % foTu weh At 38 91d W e o 12 Toh 39 wedies i feorq o 12150 s
AR U SR 69 W 6 STHIAT ShIeT ST | B T 8- W 39 4209et | 98 fohae

T utead @1 2
(@ 5 (b) 10%= (c) 12fH (d) 15f=
79. Fritend Tatea | @2t g8 e (? 9 fafea) s it
3

4 ? 4

4
(@ 4 (b) 5 () 7 (d 8

80. 100§e9mi % ghderd (H), et (G) qm AR et (C) & 39 o FaeTur 1 giomy i o 5
e
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T BT AT {5 ST € T2 ST ST Shael ANTRe SR ST §, SRl ST F1 8 2

@ } ® 15 © 3 (@) =i

81 — 83 : Pasage for comprehension

Note : Read the following passage carefully and answer the questions given below :

Sincee he returned from the war, things had not been quite the same. The day he returned, his
fiancée and his family met him at the station. They embraced, and wept, and later on they
laughed. His fiancée asked him if the war had been bad. He said it had been all right but he
wished so many of his men had not been killed. She said she had been simply dying for him to
come back. He said that was very nice of her. Then they talked of the blackouts and the air raids
and the things they had seen on T.V. By the time they reached home she was saying that
because of staying cooped indoors for so many evenings she had been eating too much and
would now have to diet. Now, where he had come from, days on end, he had not met a man,
woman or child who had not been hungry, always hungry.

81. Why did they embrace, weep and laugh when they met at the station ?
(8 Because he was coming from a long distance.
(b) Because he was coming after a long time.
(c) Because they were so happy to see him safely back from the war.
(d) Because the war was over.

82. Why were people always hungry at the place from where he had come ?
(@) Because they were dieting.
(b) Because there was a scarcity of food.
(c) Because they did not like the food.
(d) Because they had no time to eat.

83. The meaning of the word ‘Cooped’ is :
(@ Confined (b) Beingidle (c) Sitting (d) Sleeping

84. Which of the given alternatives best expresses the underlined part of the sentence ?
Theyveneratedhe old teacher.

(@) respected (b) followed (c) questioned (d) argued

85. Give the one word substitution of ‘the act of killing a person painlessly for reasons of
meroy’.
(a) Expiate (b) Euthanasia (c) Epitaph (d) Eradicate

86. Put the following sentence into indirect speech :
He sid to me, “what were you doing ?”
(@) He said to me what | was doing.
(b) He asked me what | had been doing.
(c) He asked me what | was doing.
(d) He asked me what was | doing.
Series-A 20 LPS
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87. What is the antonym of ‘Dusky’ ?
(@ White (b) Interesting (c) Bright (d) Slow
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WA HEA 889 93 [ Srufsa T |
frrferfiaa Terer & STeR W e g8 T T o 3T A

TGPIA 3R o1 & vy g Stect & | e W g o ) UHT &aT € S Gehid oF o af 317
TE | ST o TIROTTAT ST 3ToNT ek ST JIVehet & ST & | 379 JoT § & Fehid ¥ STer & off 7,
T Uefe R ol e Wbl €, HiTch U W% g W €, Seh el 1 T ST § | S o %
T T, 9 WIS Fal g7 T, 3T THIETE el &1 9T, Weh STiae-Usgfcl ol URamaeh o, Td Ha Sfia
3T 37 Tt oAl Bl WRGI - STT AT ST | I i STEvTehal & Tl o 3R I8 STavashl 3Tare o
Teh o1 &1 U7 &1 TR &, U off T onar | 9 S fqued-faned @uet § Sed o, itk ¥ 31feh Wedish §
IR AN & o, TTT ITH Pl TR ST URATCHT i Gl o U ISFHT TS @l o o dR-8R
TE I3 ST W 37T | TRATHT Bt Tl § o Ted o I o ®9 § 37T el & Fehell, W], HIATR H
ST FHHFUE R FfTvarg-srd Tghqall 1 MauTe g3, T FSTman For & T | o Ueh g TR
W | ... T HEHIT B e Il &, A1 Tl Fge Bl S &, et oft 7ve dreett &, siften o
T % oI ST ot IR H | T oIt & | TRBT H R et SR 36 st o fer T e 8, 39
3 FaTe T SRl W o & 3R I8 f]s QT § |
88. ‘uH’ P YA 3T TEI €

(@) S H WA (b)  3TORI&T T o Ui SR

() TUSTH g IR WESTA R T (d)  HHET Jodi i Tt
89. ST TEIERUT o STUR ‘TR’ I SMER &

(a) i (b) e (c) Sier-ea (d) e
90. fr=fetfad & & U foieeT o <t Sepla H e e :
(a) T S gFE G SET | (b) % foTu S ot IO ST |
(C) T T i T8t AT | (d) YT St HEETST AT HET |

91. ‘&’ % T W HEHI'- ST 7 ST | Sieal 5 TR
(a) 9 ¥H | FHHRUE T afavardg Hr fadia g7 |
(b) ST e, AHRTIERT F W AT |
(c) ST 49 T ET AT o |
(d) ST g Sia=-ugid T uR=m o |

92. ‘f@Eie = fAHfiEd o ¥ U o1 Tal §

(@) =rRfed (b) faers (c) fomdsas (d) o=
93. ' 913 fohg AT T & 2
(a) f=t (b) T (c) we (d) @R
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